
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

1, 409 × ________ = 140.9 3, 415 × ________ = 341.5

10, 65 × ________ = 10650 9, 137 × ________ = 91.37

4, 525 × ________ = 452.5 4, 522 × ________ = 452.2

1, 276 × ________ = 1276 2, 83 × ________ = 28.3

7, 588 × ________ = 7588 4, 778 × ________ = 47.78

4, 607 × ________ = 460.7 2, 339 × ________ = 233.9

10, 076 × ________ = 1007.6 2, 205 × ________ = 22.05

7, 443 × ________ = 7443 8, 754 × ________ = 8754

2, 545 × ________ = 254.5 10, 083 × ________ = 10083

1, 816 × ________ = 18.16 1, 063 × ________ = 106.3
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

1, 409 × 100 = 140.9 3, 415 × 100 = 341.5

10, 65 × 1000 = 10650 9, 137 × 10 = 91.37

4, 525 × 100 = 452.5 4, 522 × 100 = 452.2

1, 276 × 1000 = 1276 2, 83 × 10 = 28.3

7, 588 × 1000 = 7588 4, 778 × 10 = 47.78

4, 607 × 100 = 460.7 2, 339 × 100 = 233.9

10, 076 × 100 = 1007.6 2, 205 × 10 = 22.05

7, 443 × 1000 = 7443 8, 754 × 1000 = 8754

2, 545 × 100 = 254.5 10, 083 × 1000 = 10083

1, 816 × 10 = 18.16 1, 063 × 100 = 106.3
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